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1. (a) Fill in the blanks with appropriate word/words : (any four)
1×4=4

Î◊¬¬Û ≈̊Mê ˙sÀ1 ‡±˘œ Í¬± ◊̋ ¬Û”1 fl¬1± – [ø˚Àfl¬±ÀÚ± ‰¬±ø1È¬±]

(i) Partners current accounts are prepared when the capital
accounts are _______.

”̃̆ ÒÚ ø˝‰¬±¬Û¸ ”̃̋  _______ ˝íÀ˘ ’—˙œ±1 ¸fl¬˘1 ‰¬ø˘Ó¬ ø˝‰¬±¬Û √õ∂dÓ¬ fl¬1± ˝ ˛̊º

(ii) Company has a separate _______ entity apart from its
members.

Œfl¬±•Û±Úœ1 ◊̋̊ ˛±1 ¸¸…-¸fl¬˘1 ¬ı±ø˝À1› ¤È¬± ¬Û‘Ôfl¬ _______ ¸N± Ô±Àfl¬º

(iii) Current ratio is the relationship between current assets
and _______.

‰¬ø˘Ó¬ ’Ú≈¬Û±ÀÓ¬ ‰¬ø˘Ó¬ ¸•ÛøM ’±1n _______ 1 ¸•Ûfl«¬fl¬ ”̧‰¬± ˛̊º

(iv) Equity shareholders are _______ of a company.

¸˜±—˙¬ÛS Ò±1fl¬¸fl¬˘ ¤È¬± Œfl¬±•Û±Úœ1 _______ ˝ ˛̊º

(v) At the time of dissolution of partnership firm, assets are
transferred to Realisation Account at _______ value.

’—˙œ±1œ √õ∂øÓ¬á¬±Ú1 ’ª¸± ˛̊Ú1 ¸˜ ˛̊Ó¬ ¸•ÛøM¸ ”̃̋  ”̃̆ …±± ˛̊fl¬1Ì ø˝‰¬±¬ÛÕ˘
_______ ”̃̆ …Ó¬ ¶ö±Ú±ôL1 fl¬1± ˝ ˛̊º

(b) State whether the following statements are ‘True’ or ‘False’ :
1×2=2

Ó¬˘1 Î◊¬øMêÀ¬ı±1 ëqXí√√ ŒÚ ë’qXí√√ ø˘‡± –

(i) Debentureholders do not have right to vote in the
meetings of the company.

Ÿ¡Ì¬ÛSÒ±1fl¬ ¸fl¬˘1 Œfl¬±•Û±Úœ1 ø˜øÈ¬—Ó¬/¸ˆ¬±Ó¬ Œˆ¬±È¬ ø ˛̊±1 ’øÒfl¬±1 Ú± Ô±Àfl¬º

(ii) Premium for goodwill is shared in gaining ratio.

≈̧Ú±˜1 ø√õ∂ø˜ ˛̊±˜ Î◊¬¬Ûfl‘¬Ó¬ ˘±ˆ¬1 ’Ú≈¬Û±Ó¬Ó¬ ¬ı∞I◊Ú fl¬1± ˝ ˛̊º
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(c) Choose the correct alternative : 1×2=2

qX√√ Î◊¬M1ÀÈ¬± ¬ı±ÂøÚ fl¬1± –

(i) The portion of the authorised capital which is offered to
the public for sale in the form of shares is called

’Ú≈À˜±øÓ¬ ”̃̆ ÒÚ1 ø˚ÀÈ¬± ’—˙ ÊÚ¸±Ò±1ÌÕ˘ ’—˙¬ÛS1 ’±fl¬±1Ó¬ ø¬ıSêœ1 ¬ı±À¬ı
’±·¬ıÀÏ¬ˇ±ª± ˝ ˛̊, Ó¬±fl¬ Œfl¬±ª± ˝ ˛̊

(a) subscribed capital

√õ∂øÓ¬|nÓ¬ ”̃̆ ÒÚ

(b) issued capital

ø¬ıø˘fl‘¬Ó¬ ”̃̆ ÒÚ

(c) called-up capital

Ó¬˘¬ıœ ”̃̆ ÒÚ

(d) paid-up capital

’±± ˛̊fl‘¬Ó¬ ”̃̆ ÒÚ¬

(ii) In the absence of partnership deed, the rate of interest
allowed on partner’s capital is

’—˙œ±1œ ‰≈¬øMê1 ’ø¬ı˝ÀÚ, ’—˙œ±11 ”̃̆ ÒÚ1 ›¬Û1Ó¬ √õ∂±Ú fl¬1± ”̧Ó¬1 ˝±1 Δ˝ÀÂ

(a) 6%

(b) 5%

(c) 6.5%

(d) None of the above

›¬Û11 ¤È¬±› Ú˝ ˛̊

2. What is meant by re-issue of forfeited shares ? 2

¬¬ı±ÀÊ ˛̊±5 ’—˙¬ÛS1 ¬Û≈Ú1 ø¬ıø˘fl¬1Ì ˜±ÀÚ øfl¬ ¬ı≈Ê± ˚± ˛̊∑
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3. Write any two demerits of partnership business. 2

’—˙œ±1œ ¬ı…ª¸± ˛̊1 ø˚Àfl¬±ÀÚ± ≈È¬± ’ ≈̧ø¬ıÒ± ø˘‡±º

4. Mention two features of a debenture. 2

Ÿ¡Ì¬ÛS1 ≈È¬± Δ¬ıø˙©Ü… Î◊¬À~‡ fl¬1±º

OR / Ú± ◊̋√√¬ı±

Write the meaning of ‘Cash flow from investing activities’. 2

ëø¬ıøÚÀ ˛̊±· fl¬± «̊…fl¬˘±¬Û1 ¬Û1± Œ˝±ª± Ú· ÒÚ1 √õ∂ª±˝í-1 ’Ô« ø˘‡±º

5. Give two circumstances under which the fixed capitals of partners
may change. 2

’—˙œ±1 ¸fl¬˘1 ø¶ö1 ”̃̆ ÒÚ ¸˘øÚ ˝í¬ı ¬Û1± ≈È¬± ¬Ûø1ø¶öøÓ¬ Î◊¬À~‡ fl¬1±º

OR / Ú± ◊̋√√¬ı±

Why is Profit and Loss Adjustment Account prepared ? 2

˘±ˆ¬-Œ˘±fl¬‰¬±Ú ¸—À˚±ÊÚ ø˝‰¬±¬Û øfl¬ ˛̊ √õ∂dÓ¬ fl¬1± ˝ ˛̊∑

6. What is meant by ‘calls-in-advance’ ? 2

ë’·Ëœ˜ Ó¬˘¬ıœí ˜±ÀÚ øfl¬ ¬ı≈Ê± ˚± ˛̊∑

7. Mention two limitations of financial statement analysis. 2

ø¬ıMœ ˛̊ √õ∂øÓ¬À¬ıÚ1 ø¬ıÀù≠ ∏̄Ì1 ≈È¬± ¸œ˜±¬ıX√√Ó¬± Î◊¬À~‡ fl¬1±º

OR / Ú± ◊̋√√¬ı±

What is meant by the term ‘cash equivalents’ ? 2

ëÚ·1 ¸˜Ó≈¬˘…í ¬ÛÀÈ¬±1 Z±1± øfl¬ ¬ı≈Ê± ˚± ˛̊∑

8. Write three situations when a partnership firm is compulsorily
dissolved. 3

’—˙œ±1œ ¬ı…ª¸± ˛̊1 ¬ı±Ò…Ó¬± ”̃̆ fl¬ ’ª¸± ˛̊Ú Œ˝±ª±1 øÓ¬øÚÈ¬± ¬Ûø1ø¶öøÓ¬ ø˘‡±º
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9. Give any three items that can be shown under the heading
‘Reserves and Surplus’ in a company’s Balance Sheet. 3

¤È¬± Œfl¬±•Û±Úœ1 Î◊¬ Z‘M¬ÛSÓ¬ ë¸ø=Ó¬ ¬Û≈“øÊ ’±1n 1±ø˝¸ ”̃̋ í ø˙Ó¬±Ú1 ’ÒœÚÓ¬ Œ‡≈ª±¬ı ¬Û1±
ø˚Àfl¬±ÀÚ± øÓ¬øÚÈ¬± ø¬ı ∏̄̊ ˛ Î◊¬À~‡ fl¬1±º

OR / Ú± ◊̋√√¬ı±

Name any three items of current assets. 3

ø˚Àfl¬±ÀÚ± øÓ¬øÚÈ¬± ‰¬ø˘Ó¬ ¸•ÛøM1 Ú±˜ ø˘‡±º

10. Current liabilities of a company are $ 3,50,000. Its current ratio is
3 : 1 and liquid ratio is 1.75 : 1. Calculate the current assets and
liquid assets. 3

¤È¬± Œfl¬±•Û±Úœ1 ‰¬ø˘Ó¬ ŒÚ±1 ¬Ûø1˜±¬Û $ 3,50,000º ˚ø Œfl¬±•Û±ÚœÀÈ¬±1 ‰¬ø˘Ó¬ ’Ú≈¬Û±Ó¬
3 : 1 ’±1n Ó¬1˘ ’Ú≈¬Û±Ó¬ 1.75 : 1 ˝ ˛̊, ‰¬ø˘Ó¬ ¸•ÛøM ’±1n Ó¬1˘ ¸•ÛøM1 ¬Ûø1˜±Ì øÚÌ«̊ ˛
fl¬1±º

OR / Ú± ◊̋√√¬ı±

Mention any three objectives of preparing comparative statement. 3

Ó≈¬˘Ú± ”̃̆ fl¬ √õ∂øÓ¬À¬ıÚ √õ∂dÓ¬fl¬1Ì1 ø˚Àfl¬±ÀÚ± øÓ¬øÚÈ¬± Î◊¬ÀV˙… Î◊¬À~‡ fl¬1±º

OR / Ú± ◊̋√√¬ı±

What is computerised accounting system ? 3

fl¬ø•ÛÎ◊¬È¬±1fl‘¬Ó¬ Œ˘‡±—fl¬Ú ¬ÛX√√øÓ¬ ˜±ÀÚ øfl¬∑

11. A and B are partners sharing profits and losses equally. They have
admitted C into the firm. A has surrendered 1/3 of his share and
B has surrendered 1/6 of his share in favour of C. Ascertain the
new profit sharing ratio. 3

A ’±1n B ≈ÊÚ ’—˙œ±1 ’±1n ŒÓ“¬›À˘±Àfl¬ ¸˜±ÀÚ ˘±ˆ¬-Œ˘±fl¬‰¬±Ú ˆ¬·± ◊̋ ˘ ˛̊º ŒÓ“¬›À˘±Àfl¬
C-fl¬ ÚÓ≈¬Ú ’—˙œ±1 ø˝‰¬±À¬Û ˘íÀ˘º A-Œ ˛̊ ŒÓ“¬›1 ’—˙1 1/3 ’±1n B-Œ ˛̊ ŒÓ“¬›1 ’—˙1
1/6 ’—˙ C Δ˘ √õ∂Ó¬…¬Û«Ì fl¬ø1À˘º  ÚÓ≈¬Ú ˘±ˆ¬ ¬ı∞I◊Ú1 ’Ú≈¬Û±Ó¬ øÚÌ«̊ ˛ fl¬1±º
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OR / Ú± ◊̋√√¬ı±

Explain in brief the ‘average profit method’ of goodwill valuation. 3

≈̧Ú±˜ ”̃̆ …± ˛̊Ú1 ë·Î¬ˇ ˘±ˆ¬ ¬ÛX√√øÓ¬í ŒÈ¬± ‰¬ ≈̃Õfl¬ ¬ı…±‡…± fl¬1±º

OR / Ú± ◊̋√√¬ı±

Write three advantages of using graphs. 3

Œ˘‡ ¬ı…ª˝±11 øÓ¬øÚÈ¬± ≈̧ø¬ıÒ± ø˘‡±º

12. Prepare a Commonsize Income Statement of Maina Ltd. from the

following informations : 6

Ó¬˘1 Ó¬Ô…¸ ”̃̋ 1 ¬Û1± ˜± ◊̋Ú± ø˘ø˜ÀÈ¬Î¬1 Î◊¬Õ˜˝Ó¬œ ˛̊± ’±fl¬±11 ’± ˛̊1 √õ∂øÓ¬À¬ıÚ √õ∂dÓ¬ fl¬1± –

         Particulars 2022 2023

             [ø¬ıª1Ì] ($) ($)

Sales [ø¬ıSêœ] 1,05,000 1,10,000

Sales Returns [ø¬ıSê ˛̊ øÙ¬1»] 5,000 10,000

Cost of Goods Sold [ø¬ıSêœ fl¬1± ¸±˜·Ëœ1 Sê˚̨ ”̆̃ …] 70,000 74,800

Office Expenses [fl¬± «̊…±˘ ˛̊1 ‡1‰¬] 3,000 3,200

Non-operating Incomes [’¬ı…ª¸±ø ˛̊fl¬ ’± ˛̊¬] 5,000 6,600

Non-operating Expenses [’¬ı…ª¸±ø ˛̊fl¬ ‡1‰¬¬] 1,000 1,100

Income Tax Rate [’± ˛̊fl¬11 ˝±1] 50% 50%
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OR / Ú± ◊̋√√¬ı±

Explain in brief the tools of financial analysis. 6

ø¬ıMœ ˛̊ ø¬ıÀù≠ ∏̄Ì1 ’±ø˝˘±¸ ”̃̋  ‰¬ ≈̃Õfl¬ ¬ıÌ«Ú± fl¬1±º

OR / Ú± ◊̋√√¬ı±

Explain the concepts of ‘data validation’ and ‘data verification’. 6

ëÎ¬±È¬± Œˆ¬ø˘ÀÎ¬ÂÚí ’±1n ëÎ¬±È¬± Œˆ¬ø1øÙ¬Àfl¬‰¬Úí Ò±1Ì±Àfl¬ ◊̋È¬± ¬ıÌ«Ú± fl¬1±º

13. Give Journal entries in the books of Pakhi Ltd. for issue of

debentures under the following situations : 1+1+1+1+2=6

Ó¬˘Ó¬ ø ˛̊± ’ª¶ö±¸ ”̃̋ 1 ¬ı±À¬ı ¬Û±ø‡ ø˘ø˜ÀÈ¬Î¬1 ¬ı˝œÓ¬ Ÿ¡Ì¬ÛS1 ø¬ıø˘1 ¬ı±À¬ı Ê±À¬ı± √õ∂øªø©Ü ø ˛̊± –

(a) Issued 5,000, 8% debentures of $ 100 each at par redeemable

at 5% premium after 4 years.

5,000È¬± 100 È¬fl¬œ ˛̊± 8% Ÿ¡Ì¬ÛS ¸˜˝±1Ó¬ ø¬ıø˘ fl¬À1 ø˚ 4 ¬ıÂ11 ø¬ÛÂÓ¬ 5%

’øÒ˝±1Ó¬ ¬Ûø1À˙±ÒÚœ ˛̊º

(b) Issued 6,000, 9% debentures of $ 100 each at 5% premium,

redeemable at par after 4 years.

6,000È¬± 100 È¬fl¬œ ˛̊± 9% Ÿ¡Ì¬ÛS 5% ’øÒ˝±1Ó¬ ø¬ıø˘ fl¬À1 ø˚ 4 ¬ıÂ11 ø¬ÛÂÓ¬

¸˜˝±1Ó¬ ¬Ûø1À˙±ÒÚœ ˛̊º
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(c) Issued 7,000, 10% debentures of $ 100 each at 5% discount,

redeemable at par after 4 years.

7,000È¬± 100 È¬fl¬œ ˛̊± 10% Ÿ¡Ì¬ÛS 5% ¬ı±A±Ó¬ ø¬ıø˘ fl¬À1 ø˚ 4 ¬ıÂ11 ø¬ÛÂÓ¬

¸˜˝±1Ó¬ ¬Ûø1À˙±ÒÚœ ˛̊º

(d) Issued 8,000, 10% debentures of $ 100 each at 5% premium,

redeemable at 10% premium after 4 years.

8,000È¬± 100 È¬fl¬œ ˛̊± 10% Ÿ¡Ì¬ÛS 5% ’øÒ˝±1Ó¬ ø¬ıø˘ fl¬À1 ø˚ 4 ¬ıÂ11 ø¬ÛÂÓ¬

10% ’øÒ˝±1Ó¬ ¬Ûø1À˙±ÒÚœ ˛̊º

(e) Issued 5,000, 9% debentures of $ 100 each to the vendors for

purchasing a machinery of $ 5,00,000.

5,00,000 È¬fl¬±1 ˚La¬Û±øÓ¬ Sê ˛̊1 ¬ı±À¬ı ø¬ıÀSêÓ¬±fl¬ 5,000È¬± 100 È¬fl¬œ ˛̊± 9% Ÿ¡Ì¬ÛS

ø¬ıø˘ fl¬À1º

OR / Ú± ◊̋√√¬ı±

Give six points of distinctions between a share and a debenture.

6

’—˙¬ÛS ’±1n Ÿ¡Ì¬ÛS1 ˜±ÊÓ¬ Ôfl¬± ÂÈ¬± ¬Û±Ô«fl¬… ’±·¬ıÀÏ¬ˇ±ª±º

OR / Ú± ◊̋√√¬ı±

Explain the applications of Spreadsheet in Accounting. 6

Œ˘‡±—fl¬ÚÓ¬ ‘Spreadsheet’-1 ¬ı…ª˝±1¸ ”̃̋  ¬ıÌ«Ú± fl¬1±º
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14. Susanta, Ananta and Diganta were in partnership sharing profits
and losses in the ratio of 3 : 2 : 1. On 1.1.2023. Susanta retires
from the firm. On that date Balance Sheet of the firm was as
follows : 6

≈̧̇ ±ôL, ’ÚôL ’±1n ø·ôL 3 : 2 : 1 ’Ú≈¬Û±Ó¬Ó¬ ˘±ˆ¬-Œ˘±fl¬‰¬±Ú ø¬ıÓ¬1Ìfl¬±1œ ¤‡Ú √õ∂øÓ¬á¬±Ú1
’—˙œ±1 ’±øÂ˘º 1. 1. 2023 Ó¬±ø1‡Ó¬ ≈̧̇ ±ôL ◊̋ ¬ı…ª¸± ˛̊1 ¬Û1± ’ª¸1 ˘ ˛̊º Œ¸ ◊̋ Ó¬±ø1‡Ó¬
√õ∂øÓ¬á¬±Ú1 Î◊¬X‘√√Ó¬-¬ÛS‡Ú Ó¬˘Ó¬ ø ˛̊± Ò1Ì1 ’±øÂ˘º

Balance Sheet [Î◊¬ Z‘M-¬ÛS]

Liabilities [ŒÚ±] $ Assets [¸•ÛøM] $

Creditors [¬Û±›Ú±±1] 50,000 Cash at Bank [Œ¬ı—fl¬Ó¬ Ê˜±] 6,000

Reserve Fund [¸ø=Ó¬ ¬Û≈“øÊ] 60,000 Debtors [ŒÚ±±1] 1,50,000

Capital [ ”̆̃ ÒÚ] Stock [˜Ê≈Ó¬] 30,000

Susanta = 80,000 Furniture [’±‰¬¬ı±¬ı] 24,000

[¸≈˙±ôL] Land and Building [ ”̂¬ø̃  ’±1n ¬̂ªÚ] 80,000

Ananta = 60,000

[’ÚôL]

Diganta = 40,000 1,80,000

[ø·ôL]

2,90,000 2,90,000

The terms of the retirement were :

’ª¸11 ‰¬Ó«¬¸ ”̃̋  ’±øÂ˘ –

(i) Goodwill of the firm were valued at $ 1,20,000

√õ∂øÓ¬á¬±Ú1 ≈̧Ú±˜1 ”̃̆ …± ˛̊Ú 1,20,000 È¬fl¬±Ó¬ fl¬1± Δ˝øÂ˘

(ii) Land and Building to be appreciated by $ 20,000
”̂¬ø˜ ’±1n ˆ¬ªÚ 20,000 È¬fl¬±À1 ¬ı‘øX√√ fl¬ø1¬ı ˘±À·

(iii) Provision for Bad Debts to be made @ 2% on debtors
ŒÚ±±11 ›¬Û1Ó¬ 2% ’Ú≈X√√±1Ìœ ˛̊ Ÿ¡Ì1 ¬ı±À¬ı ¬ı…ª¶ö± fl¬1± ˝í¬ı



34T ACOU [ 10 ]

(iv) Furniture to be depreciated by $ 4,000

’±‰¬¬ı±¬ı1 ›¬Û1Ó¬ 4,000 È¬fl¬±1 ’ªé¬ ˛̊ Ò± «̊… fl¬1± ˝í¬ı

(v) Susanta’s capital is to be transferred to his Loan Account

≈̧̇ ±ôL1 ”̃̆ ÒÚ ŒÓ¬“›1 Ÿ¡Ì ø˝‰¬±¬ÛÕ˘ ¶ö±Ú±ôL1 fl¬1± ˝í¬ı

Give Journal entries relating to the above transactions.

Î◊¬¬ÛÀ1±Mê Œ˘ÚÀÚ ¸ ”̃̋ 1 ¬ı±À¬ı Ê±À¬ı± √õ∂ø¬ıø©Ü ø ˛̊±º

OR / Ú± ◊̋√√¬ı±

Explain how the amount due to a deceased partner is ascertained ? 6

¤ÊÚ ‘̃Ó¬ ’—˙œ±11 ¬Û±¬ı˘·œ ˛̊± ÒÚ1 ¬Ûø1˜±Ì øfl¬À1 øÚX«√√±1Ì fl¬1± ˝ ˛̊ ¬ıÌ«Ú± fl¬1±º

15. Distinguish between dissolution of partnership and dissolution of
firm. 6

’—˙œ±1œ1 ’ª¸± ˛̊Ú ’±1n ’—˙œ±1œ ¬ı…ª¸± ˛̊1 ’ª¸± ˛̊Ú1 ˜±Ê1 ¬Û±Ô«fl¬…À¬ı±1 ø˘‡±º

OR / Ú± ◊̋√√¬ı±

Ravi and Vicky are partners in a firm sharing profits and losses in
the ratio of 3 : 2. They decided to dissolve their firm on 31st
December, 2022. Their Balance Sheet on that date was as under :

¬1ø¬ı ’±1n ø¬ıfl¬œ 3 : 2 ’Ú≈¬Û±Ó¬Ó¬ ˘±ˆ¬ ’±1n Œ˘±fl¬‰¬±Ú ¬ı∞I◊Ú fl¬1± ¤È¬± ¬ı…ª¸± ˛̊1 ’—˙œ±1º
ŒÓ¬“›À˘±Àfl¬ 31 øÎ¬À‰¬•§1, 2022 Ó¬±ø1‡Ó¬ ŒÓ“¬›À˘±fl¬1 ¬ı…ª¸± ˛̊1 ’ª¸± ˛̊Ú1 ø¸X√√±ôL ˘ ˛̊º Œ¸ ◊̋
Ó¬±ø1‡Ó¬ ŒÓ“¬›À˘±fl¬1 Î◊¬X‘√√Ó¬¬ÛS‡Ú Ó¬˘Ó¬ ø ˛̊± Ò1Ì1 ’±øÂ˘ –

Balance Sheet [Î◊¬ Z‘M-¬ÛS]

Liabilities [ŒÚ±] $ Assets [¸•ÛøM] $

Capitals [ ”̃̆ ÒÚ] : Furniture [’±‰¬¬ı±¬ı] 16,000

Ravi [1ø¬ı] 17,500 Investment [ø¬ıøÚÀ˚̨±·] 4,000

Vicky [ø¬ıfl¬œ] 10,000 Debtors [ŒÚ±±1] 2,000

Creditors [¬Û±›Ú±±1] 2,000 Stock [˜Ê≈Ó¬] 3,000

Profit and Loss A/c 1,500 Cash at Bank 6,000

[˘±ˆ¬-Œ˘±fl¬‰¬±Ú ø˝‰¬±¬Û] [Œ¬ı—fl¬Ó¬ Ê˜±]
31,000 31,000
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Ravi took over the investments at an agreed value of $ 3,800. Other
assets were realised as follows :

Furniture ñ $18,000

Debtors –– 90% of Book value

Stock ñ $ 2,800

Creditors of the firm agreed to accept 5% less. Expenses of
realisation amounted to  $ 400. Close the firm’s books by preparing
a Realisation Account, Partners’ Capital Accounts and Bank
Account. 6

1ø¬ıÀ ˛̊ 3,800 È¬fl¬±1 ¤fl¬ ¸•úÓ¬ ”̃̆ …Ó¬ ø¬ıøÚÀ ˛̊±·¸ ”̃̋  ·Ë̋ Ì fl¬À1º ’Ú… ¸•ÛøM¸ ”̃̋  Ó¬˘Ó¬ ø ˛̊±
Ò1ÀÌ ’±± ˛̊ fl¬1± ˝ ˛̊ –

’±‰¬¬ı±¬ı ñ 18,000 È¬fl¬±

ŒÚ±±1 ñ ¬ı˝œ ”̃̆ …1 90%

˜Ê≈Ó¬ ñ 2,800 È¬fl¬±

¬ı…ª¸± ˛̊1 ¬Û±›Ú±±1¸fl¬À˘ 5% fl¬˜Õfl¬ ·Ë̋ Ì fl¬ø1¬ıÕ˘ ¸•úÓ¬ ˝ ˛̊º ”̃̆ …±± ˛̊fl¬1Ì1 ‡1‰¬ 400
È¬fl¬± Δ˝øÂ˘º  ”̃̆ …±± ˛̊fl¬1Ì ø˝‰¬±¬Û, ’—˙œ±11 ”̃̆ ÒÚ ø˝‰¬±¬Û ’±1n Œ¬ı—fl¬ ø˝‰¬±¬Û √õ∂dÓ¬ fl¬ø1
¬ı…ª¸± ˛̊1 ø˝‰¬±¬Û1 ¬ı˝œ¸ ”̃̋  ¬ıg¬ fl¬1±º

16. Anvi Ltd. has issued 10,000 equity shares of $10 each at a
premium of $2 each payable as follows : 8

On Application – $2

On Allotment – $5 (including premium)

On First and Final Call – $5

The shares have been fully subscribed, called up and paid-up
except the following :
(a) Allotment and First and Final Call money on 500 shares held

by Ritu, and
(b) First and Final Call money on 600 shares held by Jitu.
All these shares have been forfeited and re-issued at 10% discount
as fully paid.
Give Journal entries in the books of the company.
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Anvi ø˘ø˜ÀÈ¬ÀÎ¬ √õ∂øÓ¬‡Ú 10 È¬fl¬± ”̃̆ …1 10,000 ‡Ú ¸˜±—˙¬ÛS √õ∂øÓ¬‡ÚÓ¬ 2 È¬fl¬± ’øÒ˝±1Ó¬
ø¬ıø˘ fl¬À1 ’±1n ◊̋̊ ˛±fl¬ Ó¬˘Ó¬ ø ˛̊± Ò1ÀÌ ¬Ûø1À˙±Ò fl¬ø1¬ı ˘±ø·¬ı –

’±À¬ıÚ1 ˘·Ó¬ ñ 2 È¬fl¬±

’±¬ı∞I◊Ú1 ˘·Ó¬ ñ 5 È¬fl¬± [’øÒ˝±11 Δ¸ÀÓ¬]

√ õ∂Ô˜ ’±1n ‰”¬Î¬ˇ±ôL Ó¬˘¬ı1 ˘·Ó¬ ñ 5 È¬fl¬±

’—˙¬ÛSÀ¬ı±11 ¬ı±À¬ı ¸•Û”Ì«1+À¬Û √õ∂øÓ¬|nÓ¬ ˝í˘, Œ·±ÀÈ¬ ◊̋À¬ı±1 Ó¬˘¬ı fl¬1± ˝í˘ ’±1n Ó¬˘Ó¬ ø ˛̊±
¸ ”̃̋ 1 ¬ı± ø ¬ı±fl¬œ ¸fl¬À˘± ÒÚ ’±± ˛̊ Œ¬Û±ª± ·í˘ –

(a) 500 ‡Ú ’—˙¬ÛS1 Ò±1fl¬ ø1Ó≈¬1 ¬Û1± ¬Û±¬ı˘·œ ˛̊± ’±¬ı∞I◊Ú ’±1n √õ∂Ô˜ ’±1n ‰”¬Î¬ˇ±ôL Ó¬˘¬ı1
ÒÚ, ’±1n

(b) 600 ‡Ú ’—˙¬ÛS1 Ò±1fl¬ øÊÓ≈¬1 ¬Û1± ¬Û±¬ı˘·œ ˛̊± √õ∂Ô˜ ’±1n ‰”¬Î¬ˇ±ôL Ó¬˘¬ı1 ÒÚº

¤ ◊̋ ¸fl¬À˘± ’—˙¬ÛS ¬ı±ÀÊ ˛̊±5 fl¬1± ˝í˘ ’±1n 10% Œ1˝± ◊̋ ”̃̆ …Ó¬ ¸•Û”Ì« ’±± ˛̊fl‘¬Ó¬ ø˝‰¬±À¬Û
¬Û≈Ú1 ø¬ıø˘ fl¬ø1À˘º

Œfl¬±•Û±Úœ1 ¬ı˝œÓ¬ Ê±À¬ı± √õ∂øªø©Ü ø ˛̊±º

OR / Ú± ◊̋√√¬ı±

(a) For what purposes ‘securities premium’ can be used ? 5

ë√õ∂øÓ¬ ”̂¬øÓ¬ ’øÒ˝±1í øfl¬ øfl¬ Î◊¬ÀV˙…Ó¬ ¬ı…ª˝±1 fl¬ø1¬ı ¬Û±ø1∑

(b) Write three distinctions between equity share and preference
share. 3

ë¸˜±—˙¬ÛSí ’±1n ë’·Ë±øÒfl¬±1 ≈̊Mê ’—˙¬ÛSí1 ˜±ÊÓ¬ Ôfl¬± øÓ¬øÚÈ¬± ¬Û±Ô«fl¬… ø˘‡±º

OR / Ú± ◊̋√√¬ı±

What are the steps involved in installation of computerised
accounting system (CAS) ? 8

fl¬ø•ÛÎ◊¬È¬±1fl‘¬Ó¬ Œ˘‡±—fl¬Ú ¬ÛX√√øÓ¬ ¶ö±¬ÛÚ1 ˘·Ó¬ ÊøÎ¬ˇÓ¬ ¬ÛÀé¬¬Û¸ ”̃̋  øfl¬ øfl¬∑
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17. Mihir and Karan are partners in a firm sharing profits in the ratio
of 3 : 2. On April 1, 2022 their Balance Sheet was as under :

3+3+2=8
ø˜ø˝1 ’±1n fl¬1Ì 3 : 2 ’Ú≈¬Û±Ó¬Ó¬ ˘±ˆ¬ ¬ı∞I◊Ú1 ¤‡Ú √õ∂øÓ¬á¬±Ú1 ’—˙œ±1º 1 ¤ø√õ∂˘, 2022
Ó¬±ø1‡Ó¬ ŒÓ“¬›À˘±fl¬1 Î◊¬ Z‘M ¬ÛS‡Ú Ó¬˘Ó¬ ø ˛̊±1 À1 ’±øÂ˘ –

Balance Sheet [Î◊¬ Z‘M-¬ÛS]

Liabilities [ŒÚ±] $ Assets [¸•ÛøM] $

Sundry Creditors 85,000 Bank [Œ¬ı—fl¬] 10,000
[ø¬ıø¬ıÒ ŒÚ±±1] Stock [˜Ê≈Ó¬] 22,000

Capitals [ ”̃̆ ÒÚ] : Plant and Machinery 40,000

Mihir [ø˜ø˝1] = 70,000 [fl¬±1‡±Ú± ’±1n ˚La¬Û±øÓ¬]
Karan [fl¬1Ì] = 60,000 1,30,000 Building [ˆ¬ªÚ] 1,00,000

Goodwill [ ≈̧Ú±˜]   20,000

Debtors [ŒÚ±±1] – 24,000

Less : Provision [¬ı…¬ı¶ö±] – 1,000   23,000

2,15,000 2,15,000

On the above date, they admitted Sunil as a new partner on the
following terms :
Î◊¬¬ÛÀ1±Mê Ó¬±ø1‡Ó¬ ŒÓ“¬›À˘±Àfl¬ Ó¬˘Ó¬ Î◊¬À~‡ fl¬1± ‰¬Ó«¬¸ ”̃̋ 1 øˆ¬øMÓ¬ ≈̧Úœ˘fl¬ ÚÓ≈¬Ú ’—˙œ±1
ø˝‰¬±À¬Û ˆ¬øÓ«¬ fl¬ø1À˘ –
(i) Sunil will bring $ 50,000 for his capital.

≈̧ÚœÀ˘ ŒÓ“¬›1 ”̃̆ ÒÚ1 ¬ı±¬ı 50,000 È¬fl¬± ’±øÚ¬ıº
(ii) He would get 1/5th share in the future profits.

ŒÓ“¬› ˆ¬øª ∏̄…» ˘±ˆ¬1 1/5 ’—˙ ˘±ˆ¬ fl¬ø1¬ıº
(iii) Goodwill of the firm is valued at $ 1,20,000.

¬√õ∂øÓ¬á¬±Ú1 ≈̧Ú±˜ 1,20,000 È¬fl¬±Ó¬ ”̃̆ …± ˛̊Ú fl¬1± ˝í¬ıº
(iv) Sunil will bring necessary premium for goodwill.

≈̧ÚœÀ˘ √õ∂À ˛̊±ÊÚœ ˛̊ ≈̧Ú±˜1 √ø√õ∂ø˜ ˛̊±˜ ’±øÚ¬ı ˘±ø·¬ıº
Pass Journal entries to record the above transaction. Prepare
Partner’s Capital Accounts and Balance Sheet of the new firm.
›¬Û11 Œ˘ÚÀÚ¸ ”̃̋  ø˘ø¬Û¬ıX√√ fl¬ø1¬ı1 ¬ı±À¬ı Ê±À¬ı± √õ∂øªø©Ü ø ˛̊±º ’—˙œ±11 ”̃̆ ÒÚ ø˝‰¬±¬Û ’±1n
ÚÓ≈¬Ú √õ∂øÓ¬á¬±Ú1 Î◊¬ Z‘M ¬ÛS‡Ú √õ∂dÓ¬ fl¬1±º
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OR / Ú± ◊̋√√¬ı±

(i) Distinguish between Profit and Loss Account and Profit and
Loss Appropriation Account. 5
˘±ˆ¬-Œ˘±fl¬‰¬±Ú ø˝‰¬±¬Û ’±1n ˘±ˆ¬-Œ˘±fl¬‰¬±Ú Î◊¬¬ÛÀ˚±ÊÚ ø˝‰¬±¬Û1 ˜±Ê1 ¬Û±Ô«fl¬…À¬ı±1 ø˘‡±º

(ii) Mention any three rights of a partner. 3
’—˙œ±1 ¤ÊÚ1 ø˚Àfl¬±ÀÚ± øÓ¬øÚÈ¬± ’øÒfl¬±1 Î◊¬À~‡ fl¬1±º

18. Biswa and Pradip are partners in a firm. The Trial Balance of the firm
as on 31st December, 2022 was as under : 8

ø¬ıù´ ’±1n √õ∂œ¬Û ¤‡Ú √õ∂øÓ¬á¬±Ú1 ’—˙œ±1º 31 øÎ¬À‰¬•§1, 2022 Ó¬±ø1‡Ó¬ √õ∂øÓ¬á¬±Ú‡Ú1 Î◊¬ Z‘M
ø˜˘Ú ¬ÛS‡Ú Ó¬˘1 À1 ’±øÂ˘ –

Trial Balance [Î◊¬ Z‘M ø˜˘Ú¬ÛS]

Debit [ŒÎ¬ø¬ıÈ¬] $ Credit [ŒSêøÎ¬È¬] $

Drawings [’±˝1Ì] : Capital [ ”̆̃ ÒÚ] :
Biswa [ø¬ıù´]    ñ 4,000 Biswas [√ø¬ıù´]    ñ 65,000
Pradip [√õ∂œ¬Û]  ñ 3,000 7,000 Pradip [√õ∂œ¬Û]   ñ 40,000 1,05,000

Cash at Bank [Œ¬ı—fl¬Ó¬ Ê˜±] 45,000 Sundry Creditors [ø¬ıø¬ıÒ ¬Û±›Ú±±1] 18,400
Sundry Debtors [ø¬ıø¬ıÒ ŒÚ±±1] 40,500 Bank Loan [Œ¬ı—fl¬1 Œ˘±Ú] 5,000
Insurance [¬ıœ˜±] 19,740 Commission [fl¬ø˜ÂÚ] 300
Advertisement [ø¬ı:±¬ÛÚ] 9,000 Trading A/c (Gross Profit) 57,200
Closing Stock [¸±˜1øÌ ˜Ê≈Ó¬] 12,500
Cash in hand [Ú· Ê˜±] 16,300
Commission [fl¬ø˜ÂÚ] 5,000
Motor Car [˜È¬1 ·±Î¬̌œ] 20,860
Machinery [˚La¬Û±øÓ¬] 10,000

1,85,900 1,85,900

Prepare Profit and Loss Account, Profit and Loss Appropriation
Account and the Balance Sheet of the firm for the year ended 31st
December, 2022 after considering the following information :
Ó¬˘Ó¬ ø ˛̊± Ó¬Ô…¸ ”̃̋  ø¬ıÀ¬ı‰¬Ú± fl¬ø1Õ˘ 31 øÎ¬À‰¬•§1, 2022 Ó¬±ø1‡Ó¬ ’ôL¬Û1± ¬ı ∏̄«1 ¬ı±À¬ı ˘±ˆ¬-
Œ˘±fl¬‰¬±Ú ø˝‰¬±¬Û, ˘±ˆ¬-Œ˘±fl¬‰¬±Ú Î◊¬¬ÛÀ˚±ÊÚ ø˝‰¬±¬Û ’±1n Î◊ ¬Z‘M √¬ÛS‡Ú √õ∂dÓ¬ fl¬1± –
(a) Partners are to share profits and losses in the proportion of

3/5 and 2/5 respectively.
’—˙œ±1¸fl¬À˘ ˘±ˆ¬-Œ˘±fl¬‰¬±Ú¸ ”̃̋  SêÀ˜ 3/5 ’±1n 2/5 ’Ú≈¬Û±Ó¬Ó¬ ˆ¬·± ◊̋ ˘¬ıº
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(b) Write off depreciation @ 10% on Machinery and 20% on Motor
Car.

˚La¬Û±øÓ¬1 ›¬Û1Ó¬ 10% ’±1n ˜È¬1 ·±Î¬ˇœ1 ›¬Û1Ó¬ 20% ’ªé¬ ˛̊ Ò± «̊… fl¬ø1¬ı ˘±À·º

(c) Create a provision of 5% on Sundry Debtors for Doubtful
Debts.

ø¬ıø¬ıÒ ŒÚ±±11 ›¬Û1Ó¬ ¸Àμ˝ÊÚfl¬ Ÿ¡Ì1 ¬ı±¬ı 5% ˆ¬øª ∏̄…» ¬ı…ª¶ö± fl¬1± ˝í¬ıº

(d) Partners are entitled to Interest on Capital @ 5% per annum
and Pradip is entitled to a salary of $ 1,800 per annum.

’—˙œ±1¸fl¬À˘ ¬ıÂø1 5% ˝±1Ó¬ ”̃̆ ÒÚ1 ›¬Û1Ó¬ ”̃Ó¬ ˘±ˆ¬ fl¬ø1¬ı ’±1n √õ∂œ¬Ûfl¬ ¬ıÂø1
1,800 È¬fl¬±Õfl¬ 1˜˝± ø ˛̊± ˝í¬ıº

For Old Course : (in lieu of Project Works)
19. Answer the following questions : (any four) 5×4=20

Ó¬˘Ó¬ ø˚˛± ¬√õ∂ùü¸˜”˝1 Î◊¬M1 ø˚˛± – [ø˚Àfl¡±ÀÚ± ‰¬±ø1È¬±]

(a) Write distinctions between Fixed Capital Account and
Fluctuating Capital Account.
ø¶ö1 ˜”˘ÒÚ ø˝‰¬±¬ı ’±1n ’ø¶ö1 ˜”˘ÒÚ ø˝‰¬±¬Û1 ˜±ÊÓ¬ Ôfl¬± ¬Û±Ô«fl¬… ø˘‡±º

(b) What is Ratio Analysis ? Mention any three limitations of ratio
analysis.
’Ú≈¬Û±Ó¬ ø¬ıÀù≠¯∏Ì øfl¬ ∑ ’Ú≈¬Û±Ó¬ ø¬ıÀù≠¯∏Ì1 ø˚Àfl¬±ÀÚ± øÓ¬øÚÈ¬± ¸œ˜±¬ıX√√Ó¬± Î◊¬À~‡ fl¬1±º

(c) Explain uses of Financial Statement.

ø¬ıMœ˚˛ √õ∂øÓ¬À¬ıÚ1 ¬ı…ª˝±1 ¬ı…±‡…± fl¬1±º

(d) What is meant by Cash Flow Statement ? Mention any three
objectives of preparing cash flow statement.

Ú·ÒÚ √õ∂ª±˝1 √õ∂øÓ¬À¬ıÚ ¬ı≈ø˘À˘ øfl¬ ¬ı≈Ê± ∑ Ú·ÒÚ √õ∂¬ı±˝1 √õ∂øÓ¬À¬ıÚ √õ∂dÓ¬ fl¬1±1
ø˚Àfl¬±ÀÚ± øÓ¬øÚÈ¬± Î◊¬ÀV˙… Î◊¬À~‡ fl¬1±º

(e) Explain the average profit method of valuation of goodwill.
What is Revaluation Account ?

¸≈Ú±˜ ˜”˘…±˚˛Ú1 ·Î¬ˇ ˘±ˆ¬ ¬ÛX√√øÓ¬ÀÈ¬± ¬ıÌ«Ú± fl¬1±º ¬Û≈Ú1˜”˘…±˚˛Ú ø˝‰¬±¬Û ˜±ÀÚ øfl¬ ∑

——— ×———
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